5 ¥ HREEH

1R1] 2 NP 3-0 FEmE 3| 1R2[4 SIEREAMK | 2-1 BEFR 5
5 R REQ | oo | ZH FmO D FN LD |, am| 28 B
e KIS ZH EAXQ X BEEQD g RHQ
Si G EIO) 6-4 ZH Q) S1 BEX Fihd 6-4 H wEEAQ
S2 AX _IEEQ 6-3 BA B850 S2 B —BD 4-6 MBEABAR
1R3 | 8 T2 F K Bt 3-0 B — 9] 1R4 ] 11 SEBRZ 2-1 | EFEFEME 10
b | AmAEmD | o M EER [ g 63 | B EIQ
Wil EEG EE EEQ & ZEad HH XEO®
S1 EF 350 61 O S1 NGO 6-4 B ZEOQ
S2 BE FTAQ 6-3 Bk Z310 S2 N 1 O) 4-6 XE RAQ
1R5 [ 15 HREHEZE 3-0 /\?ﬁ*ﬁlff“ 14] 1R6 | 16 EE S EHT 3-0 1E¥E%K'H 17
5 N A5 s AZ RIQ 5 ST 52 AEH =20
ERK —FQD RE BIHED TiE FEROQ Hog ##H0
S1 2R #EQ 6-4 =i BRI S1 ARIEZAS 6-0 ERAEEEQ
S2 BE =20 7-5 E HHQ S2 SISO 6-4 BRE SEQ
1R7 | 21 X E= AW 3-0 | 20l 1R8 [ 23  HimA4HiE 2-1 BUEREA 22
D B RQ 7-6(5) —X BEQ D ARHBILR) 46 Bl E5Q@ |
M B 28 FOQ AR IR BH KO
S1 Z2 =0 6-1 =2 BHEQD S1 EE BAQ 6-0 KA FEHQ
S2 25 FEQ 7-5 Y EF.NO) S2 WL REQD 6-4 B BAQ
2R1 [ 1 EEZ A 2-1 N 21 2R2] 6 e 3-0 =, U5 75 K B 4
D hE B 46 7 = TE) D CEFNE K] 61 ZA B0
B BER e KIS KIE £mQ X EEQD
St Br BER 6-2 W EBER St INELEF NGO 6-4 BA FihQD
S2 ﬁzs Z3 6-4 EABBEQ S2 EX 7B 6-4 EH —20Q
2R3 | 7 Sl F0RERA 2-1 T2 FI A B 8| 2R4 | 12 HX= 3-0 ERZ 11
5 AW B0 6 AEAERQD 5 TH #H0Q 62 -3 S E)
HE ENO =R @ =2 BE Z# xaEad
S1 INR EEZEQ 6-3 Ef FB0 S BH EOQ 6-4 NEIEIO)
S2 #_ELID 6-3 BE FAQ S2 EEIEERE) 6-3 A& _BBRD
2R5 | 13 A0SR 2-1 BiaHEZE 15| 2R6 [ 18  #HE T KMt 3-0 25 BT 16
5 EK 53 = 5 H BEEQ o1 T BAQ
WA #Q ERK —FQD L4 E—EQ e ZEQ
S1 IHA/BABAG 5-7 2R #EQ S1 Hb EHQ 61 ARIEZAS
S2 N 5i6) 61 BiE AEQ S2 BEn 2@ 760  +H BEQ
2R7 |19 HWHBKRKELE 2-1 XE=AM 21| 2R8[24 FTZRFEEFHE [ 3-0 BUBAMEE 23
5 FE ®Q | 55 7 R 5 A = 6-3 RE 5
=8 EE£D M B £H BEQ AR HEIR
S1 Al EEQ 6-4 Z2 =0 S1 KB HEQ 61 EE BAQ
S2 H XEQ 6-2 2R ZHQ S2 nE RAQ 6-4 L REQD
3R1 | 1 EEZ A 2-0 | 6 | 3R2 | 12 BHA= 2-1 SHFIREER 7
5 S0 Q@ ool BUE o 5 TH #Ho 46 ;
Bl EEQ B 15EQ 5 BE A8 ENOQ
S1 B BIEQ 7-6(4)|  RIFEXREAD S1 BH EOQ 7-6(4) IO
2 ﬁzls 10 6-3 G O S2 [E BHEQ 6-1 BH _E-Q
3R3 [ 13 SEFNE B 2-0 MEIT A 18] 8R4 |24 FmFEEFEE | 2-1 BEEAKEALE 19
5 &K 54 ILEH JEe 5 BA = 63 Al B
WA #Q L4 E—EQ £H BEQ =% BEED
S1 IUABABAG® (651741 HbE EQ S1 XE BHEDQ 4-6 ILH 5@
S2 L EEYO 61 B =0 S2 Tk AR 75 HE 703
ER|12 BXA= 2-1 BrER 1R 24 FRFEHT | 2-1 ,ﬁﬂ]%[f* 13
5 TH 5O 63 HE BEQ D BA = 62 &K
=M BE B BER £H BiEQ LA 1$®
Si BH EQ 2-6 B8 BER S1 KE BEQ 4-6 IR NEE)
S2 FEREEAO) 6-4 ﬁzls £3 S2 nE _ZXQ 6-3 X $HQ)
R 24 REFEERER | 2-1 HX= 12
D [~ BA =RQ ~ TH H3
£H BEQ =M BE
S1 = 1ﬁ§® 6-2 BH EOQ
S2 M _RAQ | 7-6Q)| _mip EH0




